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TNUSRB – SUB INSPECTOR RECRUITMENT TRAINING – 2022 
TEST XV – REVISION II – HISTORY, GEOGRAPHY, PSYCHOLOGY 

 
1. What metals were known to the people of Indus Civilization? 

a. Copper, bronze, silver, gold, but not iron 
b. Copper, silver, iron, but not bronze 
c. Copper, gold, iron, but not silver 
d. Copper, silver, iron, but not gold 
rpe;J ntsp kf;fs; ve;j cNyhfq;fisg; gw;wp mwpe;jpUe;ejdu;? 
a. nrk;G> ntz;fyk;> nts;sp> jq;fk;  b. nrk;G> nts;sp> ,Uk;G> ntz;fyk; 
c. nrk;G> jq;fk;> ,Uk;G> nts;sp   d. nrk;G> nts;sp> ,Uk;G> jq;fk; 

 
2. All the following statements are true of Siddhartha Gautama except:  

 a. He is the founder of Hinduism.  
 b. He was born in Nepal.  
 c. He attained Nirvana.  
 d. He was known as Sakyamuni.  

rpj;jhh;j;j nfsjkh; Fwpj;J fPNo fhz;gdtw;Ws; xd;iwf; jtpu kw;w  midj;Jk; 
rhp.  

 a. ,e;J kjj;ij epWtpath; mtNu 
 b. mth; Neghsj;jpy; gpwe;jhh; 
 c. mth; eph;thzk; mile;jhh;. 
 d. mth; rhf;fpaKdp vd;W mwpag;gl;lhh;. 

 
3. Among the following who was the contemporary of Gautama Buddha?  

 a. Ajatasatru  b. Bindusara  c. Padmanabha Nanda  d. Brihadratha  
 fPo;f;fz;lth;fspy; nfsjk Gj;jhpd; rkfhyj;ijr; Nrh;e;jth; ahh;?  
 a. m[hjrj;U  b. gpe;Jrhuh c. gj;kehg ee;jh  d. gphpfj;ujh  
 

4. Which of the statements given below is/are correct?  
 Statement 1 : Chandragupta Maurya was the first ruler who unified entire  
           India under one political unit.  
 Statement 2 The Arthashastra provides information about the Mauryan  
      administration  
 a. only 1  b. only 2   c. both 1 and 2   d. neither 1 nor 2  
 fPNo nfhLf;fg;gl;Ls;s $w;Wfspy; vJ / vit rhp.  
 $w;W 1 : xl;Lnkhj;j ,e;jpahit xNu Ml;rpapd; fPo; ,ize;j Kjy;  
    murh; re;jpuFg;j nkshpah; Mthh;.  
 $w;W 2: nkshpahpd; eph;thfk; gw;wpa nra;jpfis mh;j;jrh];jpuk; toq;FfpwJ. 
 a. 1 kl;Lk;  b. 2 kl;Lk; c. 1, 2 Mfpa ,uz;Lk; d. 1k; ,y;iy 2k; ,y;iy 
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5. Arrange the following dynasties in chronological order.  
 a. Nanda – Sishunaga – Haryanka – Maurya  
 b. Nanda – Sishunaga –Maurya – Haryanka  
 c. Haryanka - Sishunaga – Nanda - Maurya  
 d. Sishunaga – Maurya – Nanda – Haryanka  
 fPo;f;fhz;gdtw;iwf; fhyf;Nfhl;bd;gb thpirg;gLj;jTk;  
 a. ee;jh – rpRehfh - `hpaq;fh – nkshpah  
 b. ee;jh – rpRehfh – nkshpah - `hpaq;fh  
 c. `hpaq;fh – rpRehfh – ee;jh – nkshpah  
 d. rpRehfh – nkshpah – ee;jh - `hpaq;fh  
 

6. Who wrote the most famous novel Anand Math?  
 a. Akbar      b. Rabindra Nath Tagore  
 c. Bankim Chandra Chatterjee  d. Jawaharlal Nehru  
 Mde;jklk; vd;w Gfo; ngw;w ehtiy vOjpath; _________.  
 a. mf;gh;     b. utPe;jpuehj; jh$h;  
 c. gq;fpk; re;jpu rl;lh;[p   d. [t`h;yhy; NeU  
 

7. The monolithic iron pillar of Chandra Gupta is at 
a. Mehrauli  b. Bhitani  c. Gandhwa  d. Mathura 

 re;jpuFg;juhy; epWtg;gl;l ,Uk;Gj; J}z; __________ vd;w ,lj;jpy;  cs;sJ.  
 a. nkf;uhyp  b. gpjhhp  c. fj;th  d. kJuh  
 

8. Which of the following is arranged in chronological order? 
 a. Srigupta – Chandragupta I – Samudragupta – Vikramaditya 
 b. Chandragupta I – Vikramaditya - Srigupta – Samudragupta 
 c. Srigupta – Samudragupta – Vikramaditya -Chandragupta I 
 d. Vikramaditya - Srigupta – Samudragupta - Chandragupta I 
 fPo;f;fhz;gdtw;wpy; fhy thpirg;gb mike;Js;sJ vJ?  
 a. =Fg;jh; - Kjyhk; re;jpuFg;jh; - rKj;jpuFg;jh; - tpf;fukhjpj;ah;  
 b. Kjyhk; re;jpuFg;jh; - tpf;fpukhjpj;ah; - =Fg;jh; - rKj;jpuFg;jh;  
 c. =Fg;jh; - rKj;jpuFg;jh; - tpf;fpukhjpj;ah; - Kjyhk; re;jpuFg;jh;  
 d. tpf;fpukhjpj;ah; - =Fg;jh; - rKj;jpuFg;jh; - Kjyhk; re;jpuFg;jh;  
 

9. Which of the following is not a correct pair?  
a. Ellora caves  - Rashtrakutas  
b. Mamallapuram -  Narasimhavarma I  
c. Elephanta caves -  Ashoka  
d. Pattadakal  - Chalukyas  

 fPo;f;fhz;gdtw;wpy; vJ rhpahd ,izapy;iy  
 a. vy;Nyhuh Fiffs;   - uh~;bu$lh;fs;  
 b. khky;yGuk;    - Kjyhk; eurpk;kth;kd;  
 c. vypngz;lh Fiffs;  - mNrhfh;  
 d. gl;llf;fy;   - rhSf;fpah;fs;  
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10. Assertion: The second battle of Tarain was lost by Prithiviraj.  
Reason: There was disunity among the Rajputs  
a. R is the correct explanation of A   
b. R is not the correct explanation of A.  
c. A is correct and R is wrong.  
d. A is wrong and R is correct.  

 $w;W  : ,uz;lhk; jnua;d; Nghhpy; gpUjptpuh[; Njhy;tpaile;jhh;. 
 fhuzk; : uh[Gj;jpuh;fspilNa xw;Wik ,y;iy  
 a. fhuzk; $w;Wf;fhd rhpahd tpsf;fNk 
 b. fhuzk; $w;Wf;fhd rhpahd tpsf;fky;y 
 c. $w;W rhp> fhuzk; jtW  
 d. $w;W jtW> fhuzk; rhp 
 
11. Who was the greatest ruler of Sangama Dynasty? 

a. Bukka   b. Devaraya II     c. Harihara II  d. Krishna Devaraya 
 rq;fk tk;rj;jpd; kpf rpwe;j Ml;rpahsh; ahh;? 
 a. Gf;fh; b. Njtuhah - II  c. `hp`uh; - II d. fpU~;z Njtuhah; 
 
12. Arrange the battles in chronological order 
     1. Battle of Khanwa   2. Battle of Chausa 
     3. Battle of Kanauj  4. Battle of Chanderi 
     fhythpirg;gb Nghh;fis thpirg;gLj;Jf. 
   1. fd;th Nghh; 2. nrsrh Nghh;   3. fd;Ndhrp Nghh;  4. re;Njhp Nghh; 

a. 1, 4, 2, 3  b. 1, 4, 3, 2  c. 1, 2, 3, 4  d. 4, 3, 1, 2 
 
13. Where was the first Jain Council held to codify the Jaina canon? 

a. Pataliputra  b. Vallabhi   c. Mathura  d. Kanchipuram 
rkzg;Nguit Kjd;Kjypy; vq;F $b jq;fspd; rka NghjidfisAk; xOf;f 
tpjpfisAk; njhFf;f Kw;gl;ldh;? 

 a. ghlypGj;jpuk; b. ty;ygp  c. kJuh  d. fhQ;rpGuk; 
 
14. The first fort constructed by the British in India was ____________. 

a. Fort St. William    b. Fort St.George 
c. Agra fort     d. Fort St. David 
,e;jpahtpy; Mq;fpNyah;fs; fl;ba Kjy; Nfhl;il  
a. tpy;ypak; Nfhl;il   b. nrapd;l; [hh;[; Nfhl;il  
c. Mf;uh Nfhl;il   d. Nltpl; Nfhl;il  

 
15. Tranqueber on the TamilNadu coast was a trade centre of the ____________. 

a. The Portuguese    b. The British 
c. The French     d. The Danish 
jkpo;ehL flw;fiuNahuj;jpy; cs;s juq;fk;ghb _________ th;j;jf ikakhf 
,Ue;jJ  
a. Nghh;r;Rf;fPrpah;fs;   b. Mq;fpNyah;fs;  
c. gpnuQ;Rf;fhuh;fs;   d. Nldpah;fs;  
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16. Which one of the following is correctly matched? 
a. Battle of Adayar  - 1748 
b. Battle of Ambur  - 1754  
c. Battle of Wandiwash  - 1760  
d. Battle of Arcot   - 1749 
nghUj;Jf: 
a. milahW Nghh;   - 1748 
b. Mk;G+h;     - 1754 
c. te;jthrpg; Nghh;  - 1760 
d. Mw;fhl;Lg; Nghh;   - 1749  

 
17. Which statement/s regarding Alfanso-de-Albuquerque is correct? 

1. He established the Portuguese authority over Omruz in Persian Gulf 
2. He maintained friendly relation with Vijaya Nagar Empire  
a. 1  b. 2  c. both  d. None   
my;Nghd;Nrh-b-my;Gfh;f; njhlh;ghd rhpahd $w;W/fis fz;lwpf 
1. mth; ghurPf tisFlhtpy; cs;s Mh;k]; JiwKfg; gFjpapy; Nghh;r;RfPrpa 

mjpfhuj;ij tphpTgLj;jpdhh;. 
2. tp[aefug; NguuRld; el;Gwit Nkw;nfhz;lhh;. 
a. 1  b. 2 c. ,uz;Lk;  d. ,uz;Lky;y  

 
18. Choose the incorrect statement/s 

1. Albuquerque shifted the capital from Cochin to Goa 
2. Portuguese were the last to leave India 
3. Dutch established their first factory at Surat 
4. Sir Thomas Roe, was sent to Jahangir’s court by Queen Elizabeth  
a. I, II only  b. II, III only c. I, III, IV only d. All the above  
jtwhd $w;W / $w;Wfis fz;lwpf 
1. my;Gfh;f; jiyefiu nfhr;rpdpypUe;J Nfhthtpw;F khw;wpdhh;. 
2. Nghh;r;RfPrpah;fs; ,e;jpahtpypUe;J filrpahf ntspNawpdh;. 
3. lr;Rfhuh;fs; jq;fs; Kjy; njhopw;rhiyia #uj;jpy; epWtpdh; 
4. vyprgj; uhzp mth;fshy; [`hq;fPhpd; mitf;F rh; jhk]; Nuh 

mDg;gpitf;fg;gl;lhh; 
a. I, II kl;Lk; b. II, III kl;Lk; c. I, III, IV kl;Lk; d. midj;Jk;   

 
19. A Supreme Court was established in Calcutta with a Chief Justice and other three 

puisne judges who were appointed by Crown by which act? 
a. Pitt’s India Act 1784  b. Charter Act 1813 
c. Regulating Act 1773  d. Charter Act 1833 
fy;fj;jhtpy; xU cr;rePjpkd;wk;> NkYk; kd;duhy; epakpf;fg;gl;l xU Kjd;ik 
ePjpgjp kw;Wk; %d;W Jiz ePjpgjpfs; Mfpait ve;j rl;lj;jpd; gb 
Vw;gLj;jg;gl;ld? 
a. gpl;]; ,e;jpah rl;lk; 1784  b. gl;lar; rl;lk; 1813 
c. xOq;FKiw rl;lk; 1773  d. gl;lar; rl;lk; 1833 
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20. Subsidiary alliance was introduced by  
a. Lord Wellesley   b. Lord Dalhousie  
c. Lord Cornwallis   d. Lord Bentick     
Jizg;gilj; jpl;lj;ij mwpKfg;gLj;jpath; ahh;? 
a. nty;ny];yp gpuG  b. ly;n`srp gpuG   
c. fhud; thyp]; gpuG  d. ngz;bq; gpuG   

 
21. The Governor of Madras presidency at the time of Vellore Sepoy Mutiny was 

__________ 
a. William Bentick  b. Cornwallis  c. Robert Clive d. Warren Hastings    
NtY}h; rpg;gha; fyfk; eilngWk; NghJ nrd;id khfhz MSeh; ahh;? 
a. tpy;ypak; ngz;bq;  b. fhud; thyp];  
c. uhgh;l; fpist;  d. thud; N`];bq;]; 

 
22. Which was considered as MagnaCarta of English education? 

a. Charter Act of 1813    b. Woods Despatch Act of 1854 
c. Macaulay’s Minutes of 1835  d. Indian Act of 1919 
Mq;fpy fy;tpapd; kfhrhrdk; vd;wiof;fg;gLtJ vJ? 
a. 1813k; Mz;bd; rhrd rl;lk;  b. 1854k; Mz;L cl;]; fy;tpawpf;if 
c. 1835Mk; Mz;bd; nkf;fhNy Fwpg;G  d. 1919Mk; Mz;bd; ,e;jpa rl;lk; 

 
23. Which among the following statements is/are correct about Individual 

Satyagraha? 
1. Dominion status was offered by Viceroy Lin Lithgow. 
2. Gandhi declared Individual Satyagraha. 
3. Vinobha Bhave was the first individual Satyagrahi. 
4. Congress did not accept Dominion status (or) August offer. 
a. 1 & 2 only b. 3 &4 only c. 1, 2 & 3 only d. all the above  
jdpegh; rj;ahfpufk; Fwpj;j thf;fpaq;fspy; rhpahdJ vJ/vit? 
1. murgpujpepjp ypd;ypj;Njhthy; jd;dhl;rp jFjp vd;w rYifia toq;f 

Kd;te;jhh;. 
2. fhe;jp jdpegh; rj;ahfpufj;ij mwptpj;jhh;. 
3. tpNdhgh ghNt Kjy; jdpegh; rj;ahfpufp. 
4. fhq;fpu]; jd;dhl;rp jFjp (m) Mf];l; rYifia Vw;Wf;nfhs;stpy;iy. 
a. 1 & 2 kl;Lk; b. 3 &4 kl;Lk; c. 1, 2 & 3 kl;Lk; d. midj;Jk;  

 
24. Which among the following statements is/are correct about Quit India 

Movement. 
1. On 8th August 1942, Quit India Resolution was passed. 
2. On 9th August 1942, Gandhi was arrested 
3. Aruna Asaf Ali, Usha Mehta, played important role in the movement 
4. Jayaprakash Narayan, Ramanand Misra organised the Quit India Movement. 
a. 2, 3 only  b. 1, 2, 3 only c. 3 & 4 only  d. All of these  
nts;isaNd ntspNaW ,af;fk; Fwpj;j gpd;tUk; thf;fpaq;fspy; vJ/vit 
rhpahdJ? 
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1. 1942> Mf];l; 8-y;> nts;isaNd ntspNaW jPh;khdk; epiwNtw;wg;gl;lJ. 
2. 1942> Mf];l; 9-y;> fhe;jp ifJnra;ag;gl;lhh;. 
3. mUzh Mrg; myp> c~h Nkj;jh MfpNahh; ,af;fj;jpy; Kf;fpag; gq;fhw;wpdh;. 
4. n[agpufh~; ehuhazd;> uhkhee;j; kp~;uh MfpNahh; nts;isaNd ntspNaW 

,af;fj;ij topelj;jpdh;. 
a. 2 & 3 kl;Lk; b. 1, 2 & 3 kl;Lk;  c. 4 kl;Lk; d. Nkw;fz;l midj;Jk;
  

25. Poligar System was introduced in Tamilnadu by 
a. Muthu Krishnappa Nayak  b. Tirumalai Nayak 
c. Muthu Alagiri Nayak  d. Viswanatha Nayak 
ghisaf;fhuh; Kiwia jkpo;ehl;by; mwpKfg;gLj;jpa kd;dh; ahh;? 
a. Kj;JfpU~;zg;g ehaf;fh; b. jpUkiy ehaf;fh; 
c. Kj;J mofphpehaf;fh;  d. tp];tehj; ehaf;fh; 

 
26. The idea of Swadeshi was popularised as early as 1872 by __________ 

a. M.G. Ranade   b. Dayanadn Saraswathi  
c. Atmaram Pandurang  d. A.K. Dutta  
‘RNjrp’ vd;w rpe;jidahdJ 1872-y; ahuhy; gpugyg;gLj;jg;gl;lJ? 
a. M.G. uhdNl   b. jahde;j ru];tjp   
c. Mj;kuhk; ghz;Luq;  d. A.K. jj;jh 

 
27. Who was the first to raise demand for Andhra Province? 

a. Potti Sriramulu  b. K.M. Panikkar   
c. T. Prakasam   d. Pattabhi Sitaramayya  
Me;jpu khfhzj;jpw;fhd Nfhhpf;ifia Kjypy; vOg;gpath; ahh;?  
a. nghl;b =uhKY  b. Nf.vk;. gdpf;fh;   
c. b. gpufhrk;   d. gl;lhgp rPj;jhuhikah   

 
28. Match the Following  

Site    District 
A. Keezhadi  1. Dindigul 
B. Adichanallur  2. Sivagangai  
C. Paiyampalli  3. Thoothukudi  
D. Porunthal   4. Vellore  
,lk;    khtl;lk; 
A. fPob   1. jpz;Lf;fy; 
B. Mjpr;rey;Y}h;  2. rptfq;if 
C. igahk; gs;sp  3. J}j;Jf;Fb 
D.nghUe;jy;  4. NtY}h; 
 A B C D 
a. 4 1 2 3 
b. 4 3 1 2 
c. 2 3 4 1  
d. 2 3 1 4 
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29. Find out the wrong Pair 
a. Marco Polo  - Venetian 
b. Ibn Battuta  - Morocco 
c. DominigoPaes  - British  
d. Nicolo Conti  - Italy  
jtwhd ,izia fz;Lgpb. 
a. khh;NfhNghNyh  - ntdp]; 
b. ,gd; gJ}jh  - nkhuhf;Nfh 
c. Nlhkpq;Nfh ga]; - Mq;fpNyah; 
d. epNfhNyh Nfhz;b - ,j;jhyp 

 
30. Find out the wrong pair 

a. Shahjahan - Tajmahal 
b. Akbar  - Buland Darwaza 
c. Babur  - Diwan-l-khas 
d. Shersha  - Purana Qila 
jtwhd ,izia fz;lwpf 
a. ~h[`hd; - jh[;k`hy; 
b. mf;gh;  - Gye;jh; th]h 
c. ghgh;  - jpthdp fh]; 
d. n~h;~h  - Guhz fpyh 

 
31. Match the following  

A. IIIrd Battle of Panipat  1. 1665 A.D 
B. Invasion of Nadir Shah  2. 1761 A.D 
C. Birth of Shivaji   3. 1739 A.D  
D. Purandhar Treaty    4. 1627 A.D 
A. %d;whk; ghdpgl; Nghh;  1. fp.gp1665 
B. ehjph;~h gilnaLg;G   2. fp.gp1761 
C. rpth[p gpwe;j tUlk;  3. fp.gp1739 
D. Gue;jh; cld;gbf;if   4. fp.gp1627 
 A B C D 
a. 2 3 4 1 
b. 3 2 4 1  
c. 4 2 3 1  
d. 3 2 1 4 
 

32. Match the following  
A. Sacheev   1. High Priest 
B. Sumant   2. Secretary 
C. Senapathi   3. Tax 
D. Pandit Rao  4. Commander in chief 
E. Sardeshmukhi  5. Foreign Minister 
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nghUj;Jf. 
A. rr;rPt;   1. jiyik mh;r;rfh; 
B. Rke;j;   2. nrayh; 
C. Nrdhgjp   3. thp 
D. gz;bl; uht;  4. jiyik jsgjp 
E. rh;Nj~;Kfp  5. ntspAwT mikr;rh; 
 A B C D E 
a. 3 1 4 2 5  
b. 5 3 2 4 1  
c. 2 5 4 1 3 
d. 2 4 5 3 1 

 
33. Match the following: 

A. Allahabad Pillar Inscription   1. Samudragupta 
B. Aihole Inscription    2. Parameshwaravarman 
C. Kuram Copper Plates   3. Pulikesi II 
D. Velurpalayam Copper Plates  4. Nandivarman III 
 A B C D 
a. 1 3 2 4 
b. 3 1 4 2  
c. 1 3 4 2  
d. 2 3 1 4  
nghUj;Jf:  
A. myfhghj; J}z; fy;ntl;L   1. rKj;jpu Fg;jh;  
B. IN`hy; fy;ntl;L     2. guNk];tuth;kd;  
C. $uk; nrg;NgLfs;     3. ,uz;lhk; GypNfrp  
D. NtY}h; ghisak; nrg;NgLfs;   4. %d;whk; ee;jpth;kd;  
 A B C D 
a. 1 3 2 4 
b. 3 1 4 2  
c. 1 3 4 2  
d. 2 3 1 4  

 
34. Match the following 

Persons    Books 
A. Asvaghosha   1. Milinda-Panho 
B. Vatsyayana   2. Mahavibhasha 
C. Vasumitra   3. Sariputraprakarna 
D. Nagasena   4. Kamasutra 
nghUj;Jf. 
A. m];tNfh~h;   1. kpype;j-gpd;`h 
B. thj;rhadh;   2. kfhtpghrh 
C. tRkpj;jpuh;   3. rhpGj;ug;ufuzh 
D. ehfNrdh;   4. fhk#j;jpuk; 
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 A B C D 
a. 2 1 3 4 
b. 4 3 1 2 
c. 3 2 1 4 
d. 3 4 2 1 

 
35. The conflict between Vijayanagar and Bahmani kingdom centred around 

a. Malwa Doab  b. Sindh Sagar Doab c. Raichur Doab d. Rechna Doab 
tp[aefh; muRf;Fk; ghkpdp muRf;FkpilNa ve;j gFjpia ifg;gw;w Nkhjy; 
,Ue;J te;jJ? 
a. khy;th gLif  b. rpe;J rhfh; gLif  
c. nua;r;#h; gLif  d. nur;rdh gLif   

 
36. Match the following 

A. Krishnadevaraya  1. Saluvabhyudayam 
B. Gangadevi   2. Manu Charita 
C. Allasani Peddana  3. Amukthamalayeda 
D. Rajanatha Dindima II 4. Madura Vijayam 
nghUj;Jf. 
A. fpU~;zNjtuhah;  1. rhStitAjak; 
B. fq;fhNjtp   2. kD rhpjk; 
C. my;yrhdp ngj;jz;zh 3. mKf;jkhy;ajh 
D. ,uz;lhk; uh[ehjjpd;bkh 4. kJuh tp[ak; 
 A B C D 
a. 3 4 2 1 
b. 3 4 1 2 
c. 3 1 4 2 
d. 3 2 4 1 

 
37. Gol Gumbaz belong to the  

a. Qutb Shahi dynasty  b. Imad Shahi dynasty 
c. Adil Shahi dynasty  d. Barid Shahi dynasty 
Nfhy;Fk;gh]; ve;j tk;rj;ijr; rhh;e;jJ? 
a. FJg; ~hfp tk;rk;  b. ,khj; ~hfp tk;rk; 
c. mby; ~hfp tk;rk;  d. ghpj; ~hfp tk;rk; 

 
38. The first battle of tarain was fought between whom in 1191 

a. Prithviraj Chauhan & Muhammad Ghori 
b. Prithviraj Chauhan & Mahmud of Ghazni 
c. Jeya Chandra & Muhammad Ghori 
d. Jeyachandra & Mahmud of Ghazni  
Kjyhk; jnua;d; Nghh;> 1191y; ahh; ahUf;F ,ilapy; eilngw;wJ? 
a. gpUj;tpuh[; nrsfhd; kw;Wk; KfkJ Nfhhp 
b. gpUj;tpuh[; nrsfhd kw;Wk; f[pdpkhKJ 
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c. n[are;jpuh kw;Wk; KfkJ Nfhhp 
d. n[are;jpuh kw;Wk; f[pdpkhKJ 

 
39. The Tropic of Capricorn faces the Sun directly on  
    a. March 21  b. June 21   c. September 23   d. December 22 
 kfuNuifapy; #upaf;fjpu;fs; nrq;Fj;jhf tpOk; ehs; 
 a. khu;r; 21  b. [_d; 21  c. nrg;lk;gu; 23  d. brk;gu; 22 
 
40. Which of the following planets can float on water?  

a. Jupiter   b. Saturn   c. Uranus   d. Neptune 
ve;j Nfhshy; jz;zPupy; kpjf;f ,aYk;? 
a. tpahod;   b. rdp  c. ANud];  d. neg;ba+d; 

 
41. Consider the following statements. 
 1. Venus rotates from east to west. 
 2. The Tropic of Cancer faces the Sun on June 21. 
 3. Mars has rings around it. 
 Choose the correct answer using the codes given below. 
 a. 1 and 2   b. 2 and 3  c. 1, 2 and   3 d. 2 only 
 nfhLf;fg;gl;Ls;s $w;Wfis Muha;f.  

1. nts;spf; Nfhs; fpof;fpypUe;J Nkw;fhfr; Rw;WfpwJ.  
2. [{d; 21 k; ehsd;W flfNuifapy; #hpaf; fjph; nrq;Fj;jhf tpOk; 
3. nrt;tha;f; NfhSf;F tisaq;fs; cz;L.  

 Nkw;$wpa $w;Wfspy; rhpahdtw;iwf; fPNo nfhLf;fg;gl;Ls;s FwpaPLfisg; 
 gad;gLj;jpf; fz;lwpf.  
 a. 1 kw;Wk; 2 b. 2 kw;Wk; 3 c. 1, 2 kw;Wk; 3 d. 2 kl;Lk;  
 
42. Which of the following oceans is the busiest ocean? 

a. The Pacific Ocean  b. The Atlantic Ocean 
c. The Indian Ocean  d. The Arctic Ocean  
mjpfkhd fg;gy; Nghf;Ftuj;J eilngWk; ngUq;fly; 
a. grpgpf; ngUq;fly;  b. ml;yhz;bf; ngUq;fly; 
c. ,e;jpag;ngUq;fly;  d. Mu;f;bf; ngUq;fly; 

 
43. Mawsynram, the land of highest rainfall is located in 

a. Manipur  b. Sikkim   c. Nagaland   d. Meghalaya  
kpf mjpf kiog;nghopTs;s nksrpd;uhk; ______ khepyj;jpy; cs;sJ. 
a. kzpg;g+u;  b. rpf;fpk;  c. ehfyhe;J  d. Nkfhyah 

 
44. As per the 2011 Census the highest literate district in Tamil Nadu  

a. Namakkal   b. Salem  c. Kanyakumari   d. Sivagangai 
2011 Mk; Mz;bd; fzf;nfLg;gpd;gb jkpofj;jpy; mjpfkhd fy;tpawpT ngw;Ws;s 
khtl;lk; 
a. ehkf;fy;   b. Nryk; c. fd;dpahFkup  d. rptfq;if 
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45. Match the following:  
 A. Cattle rearing    1.  Secondary occupation  
 B. Food processing   2. Services  
 C. Iron & Steel Industry  3. Primary occupation  
 D. Telephone    4. Agro based industry  
 E. Cotton Industry   5. Tertiary occupation  
 nghUj;Jf:  
 A. fhy;eilfs; tsh;g;G   1. ,uz;lhk;epiyj; njhopy;  
 B. Nghf;Ftuj;J    2. Nrit  
 C. ,Uk;G v/Fj; njhopw;rhiy 3. Kjy;eiyj; njhopy;  
 D. njhiyNgrp     4. Ntshz;rhh; njhopw;rhiy  
 E. gUj;jpahiy     5. %d;whk;epiyj; njhopy;  
  A B C D E 
 a. 1 2 3 4 5  
 b.  3 4 1 2 5 
 c.  1 4 2 5 3 
 d. 2 5 4 3 1  
 
46. The total number of lines of latitude are  

a. 171   b. 161   c. 181   d. 191 
ml;rf;NfhLfspd; nkhj;j vz;zpf;if  
a. 171   b. 161   c. 181   d. 191 

 
47. __________ belt is known as the “Ring of Fire”. 

a. Pacific   b. Atlantic  c. Arctic   d. Antarctic 
_______ gFjp neUg;G tisak; vd;W miof;fg;gLfpwJ. 
a. grpgpf;  b. ml;yhz;bf; c. Mh;f;bf;  d. mz;lhh;l;bf;  

 
48. Find out the correct statements. 

1. The landmass of Tamil Nadu extends from 8º4’N to 13º35’N latitudes and 
from 76º18’E to 80º20’E longitudes. 

2. Its Western and Eastern extremities are defined by the Anaimalai Hills and 
point calimere. 

3. The northern extremity of the state is marked by Pulicat lake. 
4. The southernmost point is Cape Comorin. 
a. 1, 3, 4 only b. 2, 4 only c. 1, 4 only   d. All are correct  
rhpahd $w;iw Njh;e;njLf;fTk;. 
1. jkpo;ehl;bd; epyg;gug;G 8º4’N tl ml;rk; Kjy; 13º35’ tl ml;rk; tiuapYk;> 

76º18’ fpof;F jPh;f;fk; Kjy; 80º20’ fpof;F jPh;f;fk; tiuapYk; gutpAs;sJ. 
2. jkpo;ehl;bd; Nkw;F Nfhbahf MidkiyAk;> fpof;F Nfhbahf Nfhbaf;fiuAk; 

mike;Js;sd. 
3. goNtw;fhL Vhp tl Nfhbahf mike;Js;sJ 
4. FkupKid njd; Nfhbahf mike;Js;sJ 
a. 1, 3, 4 kl;Lk; b. 2, 4 kl;Lk; c. 1, 4 kl;Lk;  d. midj;Jk; rhp  
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49. Find out the correct statements. 
1. Tamil Nadu accounts for 60% of leather tanning processes of India. 
2. Tamil Nadu produces 37% of all leather footwear, garments and components. 
a. 1 only b. 2 only c. Both 1 & 2 are correct   d. None of these   
rhpahd $w;iw Njh;e;njL: 
1. ,e;jpahtpy;> Njhy; gjdpLk; njhopyfq;fspy; jkpo;ehL 60% cw;gj;jpia 

mspf;fpwJ. 
2. Njhy; fhyzpfs;> Njhy; Milfs;> kw;Wk; Njhy; cgnghUl;fs; cw;gj;jpapy; 

jkpo;ehL jdJ gq;fspg;ghf 37% mspf;fpwJ. 
a. 1 kl;Lk; rhp b. 2 kl;Lk; rhp c. 1 & 2 ,uz;Lk; rhp d. vJTkpy;iy 
  

50. The seismic zones in India was grouped by  
a. National Institute of Disaster Management  
b. Indian Meterological Department 
c. National Institute of Hydrology  
d. Bureau of Indian Standards 
fPo;f;fz;l ve;j mikg;G ,e;jpahtpd; epymjpu;T kz;lyq;fis 
tifg;gLj;jpAs;sJ? 
a. Njrpa Nguplu; Nkyhz;ik epWtdk; 
b. ,e;jpa thdpiy Ma;T Jiw 
c. Njrpa ePupay; epWtdk; 
d. ,e;jpa juepu;za epWtdk; 

 
51. National Disaster Management Authority Act was passed in  

a. 2005  b. 2006 c. 2007  d. 2008   
Njrpa Nguplu; Nkyhz;ik Miza rl;lk; ve;j Mz;L nfhz;Ltug;gl;lJ? 
a. 2005  b. 2006 c. 2007  d. 2008   

 
52. Match the following  

A. Isonif    1. Equal lowest Mean temperature  
B. Isocryme  2. Equal amount of Rainfall 
C. Isohel   3. Equal Snowfall 
D. Isollobar  4. Equal Sunshine  
E. Isohyet    5. Equal Pressure Tendency  
nghUj;Jf. 
A. INrhep/g;  1. ruhrup rkntg;gepiyf;NfhL 
B. INrhf;iuk;  2. rk kioasTf;NfhL 
C. INrhnfy;  3. rk gdpg;nghopT 
D. Inry;Nyhghu;  4. rk #upantspr;rf;NfhL 
E. INrhi`l;];  5. rk fhw;wOj;j khWghl;Lf;NfhL 

A B C D E  
a. 4 2 3 5 1 
b. 4 5 3 2 1 
c. 2 5 3 4 1 
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d. 3 1 4 5 2 
53. Match the following  

A. Chinook   1. Heat wave 
B. Sirocco   2. Snow Eater 
C. Harmattan  3. Blood rain 
D. Loo   4. Doctor wind  
nghUj;Jf. 
A. rpD}f;   1. ntg;g miy 
B. rpuhf;Nfh  2. ntk;gdp cz;Zk;fhw;W 
C. `u;khl;ld;  3. rptg;G (FUjp) kio 
D. Y}    4. kUj;Jtfhw;W 

A B C D 
a. 1 2 3 4 
b. 2 3 4 1 
c. 3 4 1 2 
d. 4 3 1 2 

 
54. Match the following 

A. Praires   1. Argentina 
B. Savannas  2. North America 
C. Llanos   3. Africa 
D. Downs   4. South America 
E. Pampas   5. Australia  
nghUj;Jf 
A. gpiuup];   1. mu;n[z;bdh 
B. rthd;dh   2. tl mnkhpf;fh 
C. yhNdh];   3. Mg;gpupf;fh 
D. lTd;];   4. njd; mnkhpf;fh 
E. ghk;gh];   5. M];jpNuypah 

A B C D E 
a. 2 3 4 5 1 
b. 2 4 3 1 5 
c. 2 4 3 5 1 
d. 2 3 5 1 4 

 
55. The sex ratio of Tamil Nadu is ___________ (According to census 2011) 

a. 942 females/1000 males   b. 980 females/1000 males  
c. 996 females/1000 males   d. 1054 females/1000 males 
jkpo;ehl;bd; ghypd tpfpjk; ____. (2011Mk; Mz;L kf;fs;njhif 
fzf;nfLg;gpd;gb) 
a. 942 ngz;fs;/1000 Mz;fs; b. 980 ngz;fs;/1000 Mz;fs; 
c. 996 ngz;fs;/1000 Mz;fs; d. 1054 ngz;fs;/1000 Mz;fs; 
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56. Which of the following statements is/are correct regarding 2011 census? 

i. The literacy rate of India is 74.04% 
ii. Literacy rate of Kerala is 93.91% 
iii. Bihar is the least literate state in India  
iv. Six Indian states account for about 60% of all illiterates in India 
a. i, ii, iii  b. iii, iv  c. i, iii, iv  d. all the above   
2011Mk; Mz;L kf;fs;njhif fzg;nfLg;gpd;gb gpd;tUk; $w;Wfspy; rupahdit 
vit? 
i. ,e;jpahtpd; fy;tpawpT tpfpjk; 74.04%. 
ii. Nfushtpd; fy;tpawpT tpfpjk; 93.91% 
iii. gPfhu; kpff;Fiwe;j fy;tpawpT nfhz;l khepyk;. 
iv. ,e;jpahtpy; MWkhepyq;fs; 60% fy;tpawptw;wtu;fisf; nfhz;Ls;sJ. 
a. i, ii, iii  b. iii, iv  c. i, iii, iv  d. Nkw;$wpa midj;Jk;
   

57. Match the following: 
Coal     Carbon Content (%) 
A. Bituminous  1. 30 – 35% 
B. Peat    2. 35 – 45% 
C. Lignite    3. 70 – 90% 
D. Anthracite   4. >95% 
nghUj;Jf. 
epyf;fup   fhu;gdpd; msT (%) 
A. gpl;Lkpd];  1. 30-35% 
B. gPl;    2. 35-45% 
C. ypf;idl;   3. 70-90% 
D. Me;j;uhirl;  4. >95% 

A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 3 1 2 4 
d.  1 2 4 3 

 
58. Which of the following is/are incorrectly matched pair/s? 

i. Rachel Carson’s “Silent Spring”    - 1962 
ii. Stockholm UN conference on Human Development - 1976 
iii. Brundtland commission report     - 1987 
iv. Kyto Protocol       - 1997 
a. i and ii  b. iii and iv  c. ii only  d. iv only    
nghUj;jkw;w ,izia Njh;T nra;f.  
i. Nur;ry; fhh;]dpd; “mikjp Cw;W"      - 1962 
ii. ];lhf;N`hk; - kdpj tsh;r;rpf;fhd If;fpa ehLfs; fUj;juq;F  – 1976  
iii. g;uz;l;yz;l; Mizaj;jpd; mwpf;if      – 1987 
iv. f;Nahl;Nlh newpKiwfs;        - 1997 
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a. i kw;Wk; ii b. iii kw;Wk; iv c. ii kl;Lk;  d. iv kl;Lk;    
59. Which is the World’s Largest Mangrove Forest? 

a. Pichavaram  b. Gulf of Kutch  c. Sunderbans  d. Bhitarkanika 
cyfpd; kpfg;ngupa rJg;G epyf;fhL vJ? 
a. gpr;rhtuk;  b. fl;r; tiFlh c. Re;ju;gd;  d. gpju;fdpfh  
 

60. The State Disaster Management Authority (SDMA) is headed by  
a. Governor    b. Chief Minister   
c. Home Minister   d. Chief Secretary 
khepy Nghplh; Nkyhz;ik Mizaj;jpw;F jiyik tfpg;gth;? 
a. MSeh;    b. Kjyikr;rh; 
c. cs;Jiw mikr;rh;  d. jiyik nrayh; 

 
61. Which Planet appears like a rolling ball 

a. Jupiter  b. Uranus   c. Saturn   d. Neptune   
jd; Rw;Wg;ghijapy; cUz;NlhLtJ Nghd;W fhzg;gLk; Nfhs; vJ?  
a. tpahod;  b. ANud];  c. rdp   d. neg;bA+d;   

 
62. __________ is regarded as the first cartographer 

a. Ptolemy  b. Eratosthenes  c. Anaximander  d. Aryabhatta–I    
Kjy; epytiugltpayhsh; vd fUjg;gLgth; ahh;?  
a. lhykp b. vuNlh];jPd];  c. mdhf;]pNkd;lh; d. Kjyhk; Mhpagl;lh; 
  

 
63. The “100 Smart Cities Mission” was launched on 

a. 25 June 2015 b. 26 June 2015 c. August 15, 2015 d. October 2 2015 
“100 nghypTW efu jpl;lk;” njhlq;fg;gl;lJ vg;nghOJ? 
a. 25 [_d;> 2015 b. 26 [_d;> 2015 c. 15 Mf];l;> 2015 d. 2 mf;Nlhgh;> 2015 
 

64. The Continental Drift Theory was proposed by ______. 
a. Harry Hess   b. Friedrich Ratzel 
c. Albert Einstein   d. Alfred Wegener 
fz;l efh;T Nfhl;ghL ahuhy Kd;nkhopag;gl;lJ;? 
a. `hhp n`];   b. ngl;hpf; ury; 
c. My;gh;l; Id;];Bd;  d. My;gpul; ntfdhh; 

 
65. Match the following 

A. World Population day   1. May 21 
B. International Mother language day 2. July 11 
C. World Religious day   3. February 9 
D. World Cultural diversity day  4. January [3rd Sunday’s] 
E. National Census day   5. February 21 
nghUj;Jf. 
A. cyf kf;fs;njhif ehs;       1. Nk 21 
B. rh;tNjr jha;nkhop jpdk;       2. [_iy 11 
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C. cyfkj ey;ypzf;f ehs;       3. gpg;uthp 9 
D. cyf fyhr;rhu gd;Kfj;jd;ik ehs;     4. [dthp [3tJ Qhapw;Wf;fpoik] 
E. Njrpa kf;fs;njhif fzf;nfLg;G ehs;   5. gpg;utup 21 
 A B C D E 
a. 2 5 4 1 3 
b. 2 3 4 1 5 
c. 2 3 1 4 5 
d. 2 3 5 4 1 

 
66. Match the following 

A. Ranthambore   1. Assam 
B. Manas    2. Jharkhand 
C. Nagarajuna Sagar  3. Andhra Pradesh 
D. Palamau   4. Rajasthan 
E. Indravati   5. Chattisgarh 
nghUj;Jf. 
A. uhe;jk;G+h;    1. Mrhk; 
B. kdh];    2. [hh;fz;l; 
C. ehfhh;[Pdh rhfh;  3. Me;jpugpuNjrk; 
D. gyhkhT    4. ,uh[];jhd; 
E. ,e;jpuhtjp   5. rj;jP];fh; 
 A B C D E 
a. 4 1 3 2 5 
b. 4 2 1 3 5 
c. 1 4 3 5 2 
d. 3 1 4 2 5 

 
 
67. Match the following 

A. Bharatpur bird sanctuary   1. Uttar Pradesh 
B. Mayani bird sanctuary   2. Andhra Pradesh 
C. Uppalapadu bird sanctuary  3. Rajasthan 
D. Nal Sarovar bird sanctuary  4. Maharastra 
E. Nawabganj bird sanctuary  5. Gujarat 
nghUj;Jf. 
A. guj;G+h; gwit ruzhyak;   1. cj;jpugpuNjrk; 
B. kahdp gwit ruzhyak;   2. Me;jpu gpuNjrk; 
C. cg;gsg;ghL gwit ruzhyak;  3. ,uh[];jhd; 
D. ey;rNuhth; gwit ruzhyak;  4. kfhuh~;buh 
E. ethg;fQ;r; gwit ruzhyak;  5. F[uhj; 
 A B C D E 
a. 3 4 2 5 1 
b. 5 4 3 2 1 
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c. 4 3 2 1 4 
d. 2 3 1 5 4 

 
68. The Total Coastal length of Tamilnadu is ____. 

a. 7517 km  b. 7516 km  c. 1077 km  d. 1076 km   
jkpo;ehl;bd; nkhj;j flNyhu ePsk; ____. 
a. 7517 fp.kP b. 7516 fp.kP c. 1077 fp.kP d. 1076 fp.kP   

 
69. Match the following 

A Yercaud  1. High Wavy Mountains 
B. Velliangiri  2. 70 Hairpin bends 
C. Kolli Hills 3. Nature’s Heaven 
D. Meghamalai 4. Poor Man’s Ooty 
E. Javadi  5. 14 Hairpin bends 
F. Yelagiri  6. Kailash of South 
nghUj;Jf. 
A. Vw;fhL  1. cah; Nkfq;fs; FtpAk; gFjp 
B. nts;saq;fphp 2. 70 nfhz;il Crp tisTfs; 
C. nfhy;ypkiy 3. ,aw;ifapd; nrhh;f;fk; 
D. Nkfkiy 4. Viofspd; Cl;b 
E. [t;thJ  5. 14 nfhz;il Crp tisTfs; 
F. Vyfphp  6. njw;fpd; ifyh~; 
 A B C D E F 
a. 4 6 2 1 3 5 
b. 4 6 5 1 3 2 
c. 6 4 5 1 3 2 
d. 5 4 6 3 1 2 

 
70. Match the following 

A. Point Calimere Wildlife Sanctuary 1. Ramnad 
B. Vettangudi birds Sanctuary  2. Ariyalur 
C. Karaivetti birds Sanctuary   3. Coimbatore 
D. Gulf of Mannar Marine Park  4. Nagapattinam 
E. Indira Gandhi National Park  5. Sivagangai 
nghUj;Jf. 
A. Nfhbaf;fiu tdtpyq;F ruzhyak; 1. uhkehjGuk; 
B. Ntl;lq;Fb gwitfs; ruzhyak; 2. mhpaY}h; 
C. fhiuntl;b gwitfs; ruzhyak; 3. Nfhak;Gj;J}h; 
D. kd;dhh; tisFlh flw;;; G+q;fh  4. ehfg;gl;bdk; 
E. ,e;jpuhfhe;jp Njrpa G+q;fh  5. rptfq;if 
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A B C D E 
a. 4 5 2 1 3  
b. 5 4 2 1 3 
c. 5 4 3 2 1 
d. 5 2 4 1 3 

 
71. Which layer of the atmosphere is known as “Weather making layer”? 

a. Troposphere b. Stratosphere  c. Mesosphere d. Ionosphere  
thdpiyia cUthf;Fk; mLf;F vd;W miof;fg;gLk; tspkz;ly mLf;F?  
a. mbaLf;F  b. gilaLf;F   c. ,ilaLf;F  d. madpaLf;F   

 
72. When was the Gangetic Dolphin was declared the National Aquatic Animal? 

a. 2001  b. 2000   c. 2011  d. 2010   
,e;jpahtpd; Njrpa fly;tho; caphpdkhf fq;if tho; Xq;fpy; ve;j Mz;L 
mwptpf;fg;gl;lJ? 
a. 2001  b. 2000   c. 2011  d. 2010   

 
73. Grand Canyon of India is situated on the ____ river. 

a. Krishna  b. Pennar  c. Ganga  d. Godavari  
,e;jpahtpd; fpuhz;l; nrq;Fj;J gs;sj;jhf;F ____ Mw;wpy; mike;Js;sJ 
a. fpU~;zh b. ngd;dhW c. fq;fh  d. Nfhjhtup   

 
74. The term “Lithosphere” was introduced by 

a. Alfred Wegener    b. Joseph Barrel 
c. Alexander Von Humbolt   d. Kiyoo Wadati 
ghiwf;Nfhsk; vd;w nrhy;iy mwpKfg;gLj;jpath; 
a. My;g;nul; ntfdh;    b. N[hrg; Nguy; 
c. mnyf;rhz;lh; thd; `k;Nghy;l;  d. fpa+ Ntll;b 

 
75. Which district in Tamil Nadu has the highest frequency of landslide? 

a. Nilgiris  b. Erode  c. Dharmapuri d. Coimbatore 
jkpo;ehl;by; ve;j khtl;lj;jpy; epyr;rhpT mjpfkhf cs;sJ? 
a. ePyfphp   b. <NuhL  c. jh;kGhp  d. Nfhak;Gj;J}hh; 

 
76. Coleroon (Kollidam) river is a distributary of 

a. The Bhavani River    b. The Palar River 
c. The Pennar River    d. The Cauvery River 
nfhs;splk; MW ve;j Mw;wpd; fpisahW? 
a. gthdp MW  b. ghyhW  c. ngd;dhW  d. fhtphp MW 

 
77. Albedo means 

a. Amount solar radiation reflected by the surface 
b. Amount moisture absorbed by the surface 
c. Amount moisture present in air 
d. Amount of molecules present in air 
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 my;gpNlh vd;gjd; nghUs; 
 a. Nkw;gug;ghy; gpujpgypf;fg;gLk; #hpaf; fjph;tPrypd; msT 
 b. Nkw;gug;ghy; cl;fpufpf;fg;gLk; <ug;gjj;jpd; msT 
 c. fhw;wpy; cs;s <ug;gjj;jpd; msT 
 d. fhw;wpy; cs;s %yf;$Wfspd; msT 
 
78. Who first proposed the term ‘Ecosystem’? 

a. E.O. Wilson    b. I.G. Simmon 
c. A.G. Tansley    d. Raymond F Dasmann 

 ‘Rw;Wr;#oy;’ vd;w thh;j;ijia Kjd; Kjypy; cgNahfpj;jth; ahh;? 
 a. v.X. tpy;rd;    b. I.[p. rpk;kd;   

c. V. [p. ld;];Ny    d. Nukz;l; v/g; lh];kd; 
 
79. Which one is wrongly matched?  

a. GPS   - United States  
b. GALILEO   - Japan  
c. BEODOU   - China  
d. IRNSS    - India  
rhpahf nghUe;jhJ vJ?  
a. GPS   - mnkhpf;f If;fp ehLfs;  
b. GALILEO - [g;ghd;  
c. BEODOU - rPdh  
d. IRNSS   - ,e;jpah 

 
80. In which year was EIA introduced in India  

a. 1947 b. 1950   c. 1956   d. 1978  
Rw;Wr;#oy; jhf;fk; kjpg;gply; (EIA) ,e;jpahtpy; Muk;gpf;fg;gl;l  Mz;L  
a. 1947 b. 1950   c. 1956   d. 1978  

 
(Q.NO 81 - 84) Refer to the graph and answer the given questions. Data related 
to number of bags sold by two stores (M and N) during 5 years 
fPNo nfhLf;fg;gl;Ls;s tiuglj;ij nfhz;L gpd;tUk; tpdhf;fSf;F tpilasp. 
Ie;J tUlq;fspy; ,uz;L epWtdq;fs; (M kw;Wk; N) tpw;gid nra;j igfspd; 
vz;zpf;ifiag; gw;wpa tptuq;fs;. 
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81. Number of bags sold by store M decreased by what percent from 2004 to 2006?  

fil M-,d; 2004Mk; tUlj;jpd; igfs; cw;gj;jpia tpl 2006Mk; tUlj;jpd; 
Fiwe;j tpw;gidapd; rjtpfpjk; vd;d? 

a. 29   b. 
1

27
2

  c. 
1

31
4

  d. 33 

 
82. What is the respective ratio between total number of bags sold by stores M and 

N together in 2006 and that in 2008? 
fil M kw;Wk; N Mfpatw;wpy; 2006 kw;Wk; 2008 Mfpa tUlq;fspy; ,ize;J 
nra;j tpw;gidfspd; tpfpjk;  
a. 13 : 8  b.11 : 9  c. 6 : 5  d. 9 : 8 

 
83. If the average number of bags sold by store N in 2007, 2008 and 2009 was 305, 

what was the number of bags sold by the same store in 2009? 
fil N 2007, 2008 kw;Wk; 2009 Mfpa tUlq;fspy; tpw;gid nra;j igfspd; 
ruhrhp vz;zpf;if 305 MFk;. vdpy; mNj fil 2009 Mk; tUlk; tpw;gid nra;j 
igfspd; vz;zpf;if vd;d? 
a. 420  b. 445  c. 425  d. 440 

 
84. What is the difference between total number of bags sold by stores M and N 

together in 2005 and that in 2007?  
2005 kw;Wk; 2007 Mfpa tUlq;fspy; fil M kw;Wk; fil N ,uz;Lk; ,ize;J 
tpw;w igfspd; vz;zpf;ifapd; tpj;jpahrk; vd;d? 
a. 250   b. 240   c. 210   d. 260 
 
(Q.NO 85 - 87) The bar diagram shows the number of students who opted for 
the different subjects in the year 2019 and 2020.  
2019 kw;Wk; 2020Mk; Mz;Lfspy; ntt;NtW ghlq;fis Njh;e;njLj;j 
khzth;fspd; vz;zpf;ifia gl;il tpsf;fg;glk; Fwpf;fpd;wJ. 
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85. What is the average of the number of students who opted for Physics over the 

two years? 
,uz;L Mz;Lfspy; ,aw;gpaiyj; Njh;e;njLj;j khzth;fspd; vz;zpf;ifapd; 
ruhrhp vd;d? 
a .70   b. 80   c. 82   d. 84 

 
86. Difference in the number of students in both the years is maximum in which of 

the following subject - 
a. Maths  b. Chemistry c. English  d. Biology 
,uz;L Mz;LfspYk; khzth;fspd; vz;zpf;ifapy; cs;s NtWghL mjpfgl;rk; 
cs;s ghlk; - 
a. fzpjk;  b. Ntjpapay; c. Mq;fpyk;  d. caphpay; 

 
87. What is the sum of the total number of students who opted for different subjects 

in 2019 and only maths in 2020? 
2019Mk; Mz;by; ntt;NtW ghlq;fisj; Njh;e;njLj;j 2020Mk; Mz;by; 
fzpjj;ij kl;Lk; Njh;e;njLj;j khzth;fspd; nkhj;j vz;zpf;if vt;tsT? 
a. 750   b. 410   c. 340   d. 490 

 
(Q.NO 88 - 91) Study of the following table to answer the given questions- 
gpd;tUk; ml;ltiziag; gbj;J nfhLf;fg;gl;l Nts;tpfSf;F gjyspf;fTk;. 
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Year 
Mz;L 

Rice 
mhprp 

Wheat 
NfhJik 

Corn 
Nrhsk; 

Pulses 
gUg;G 
tiffs; 

1960-62 161 62 131 61 

1970-72 197 81 116 64 

1980-82 187 116 103 46 

1990-92 189 124 101 44 

2000-02 201 137 86 64 

 
88. For which set of years of the combined consumption per day is equal with other 

set of years? 
ve;j Mz;Lfspd; njhFg;Gf;F xU ehspd; xUq;fpize;j Efh;T kw;w 
Mz;LfSld; rkkhf ,Uf;Fk;? 
a. 1960-62 & 1970-72   b. 1970-72 & 1990-92 
c. 1970-72 & 2000-02   d. 1980-82 & 1990-92 

 
89. For which food consumption, was there successive increase over the given set of 

years? 
a. Rice  b. Wheat  c. corn  d. Pulse 
nfhLf;fg;gl;l Mz;Lfspy; ve;j czT Efh;T> mLj;jLj;J mjpfhpj;jJ? 
a. mhprp  b. NfhJik c. Nrhsk;  d. gUg;G tiffs; 
 

90. For corn, for the given set of years, the lowest consumption is approximately 
what per cent of that of all grains consumption per day in such a set of years? 
Nrhsj;jpw;F nfhLf;fg;gl;l Mz;Lfspy;> Fiwe;j Efh;T> mNj Mz;bd; xU 
ehisf;F midj;J jhdpaq;fspd; Efh;Tfspy; Njhuhakhf ve;j rjtPjkhFk;? 
a. 17.6   b.17   c. 16.6  d. 18 
 

91. How many more percentage of the average consumption of Rice from the 
average consumption of corn? 
Nrhsj;jpd; ruhrhp Efh;tpy; ,Ue;J mhprpapd; ruhrhp Efh;T vj;jid rjtPjk; 
mjpfk;? 
a. 74.1  b. 42.6  c. 142.6  d. 79.6 

 
(Q.NO 92 - 93) Directions : Study the following pie chart carefully and answer the 
questions given beside. 
gpd;tUk; tl;l tpsf;fg;glj;ij gbj;J nfhLf;fg;gl;Ls;s Nfs;tpfSf;F tpilaspf;fTk;. 
 
The following pie-chart represents the various monthly expenditures as well as 
savings of Balan. 
gpd;tUk; tiuglk; ghydpd; gy;NtW khjhe;jpu nryTfs; kw;Wk; Nrkpg;Gfisf; 
Fwpf;fpwJ. 
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92. If Balan earns Rs. 50,000, then how much he spends on Rent, Transport and 

Education? 
ghyd; &.50>000 rk;ghjpf;fpwhh; vd;why;> thlif> Nghf;Ftuj;J kw;Wk; fy;tpf;F 
vt;tsT nryT nra;fpwhh;? 
a. Rs. 20,500 b. Rs. 21,500 c. Rs. 19,500 d. Rs. 18,500 

 
93. If Balan earns Rs. 20,000, then how much more does he spend on food than on 

education and transportation put together? 
ghyd; &.20>000 rk;ghjpf;fpwhh; vd;why;> fy;tp kw;Wk; Nghf;Ftuj;J Mfpatw;iwf; 
fhl;bYk; mth; czTf;fhf vt;tsT mjpfk; nrytpLfpwhh;? 
a. Rs. 160  b. Rs. 200  c. Rs. 300  d. Rs. 240 

 
(Q.NO 94 - 98) Directions : Study the following pie chart carefully and answer the 
questions given beside. 
gpd;tUk; tl;l tpsf;fg;glj;ij gbj;J nfhLf;fg;gl;Ls;s Nfs;tpfSf;F tpilaspf;fTk;. 
 
The pie-chart given below shows total number of children who opted different 
courses in summer camp in May 2020.   
fPNo nfhLf;fg;gl;Ls;s tiuglk;> Nk 2022,y; Nfhilf;fhy Kfhkpy; ntt;NtW 
gbg;Gfisj; Njh;e;njLj;j nkhj;j Foe;ijfspd; vz;zpf;ifiaf; fhl;LfpwJ. 
 
Total Children (nkhj;j Foe;ijfs;) = 300 
 

 

 
94. Total number of children who opted for Yoga and Painting together is how much 

less than total number of children who opted for Music and Dance together? 
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NahfhitAk; xtpaj;ijAk; Njh;e;njLj;j Foe;ijfspd; vz;zpf;if> ,ir kw;Wk; 
eldj;ij Njh;e;njLj;j Foe;ijfspd; vz;zpf;ifia tpl vt;tsT FiwT? 
a. 24   b. 27   c. 33   d.30 

 
95. Find the total number of children who came for the camp in May 2021 if the total 

number of children increased by 30% in May 2021 as compared May 2020? 
Nk 2020 cld; xg;gpLk;NghJ 2021 Nk khjj;jpy; nkhj;j Foe;ijfspd; vz;zpf;if 
30% mjpfhpj;jpUe;jhy;> Nk 2021 ,y; KfhKf;F te;j nkhj;j Foe;ijfspd; 
vz;zpf;ifiaf; fz;lwpaTk;? 
a. 310  b. 340  c. 390  d. 360 

 
96. Find the average number of children who opted for Swimming, Yoga and Music 

together? 
ePr;ry;> Nahfh kw;Wk; ,iria xd;whfj; Njh;e;njLj;j Foe;ijfspd; ruhrhp 
vz;zpf;ifiaf; fhz;f 
a. 54   b. 60   c. 58   d. 55 

 
97. Find the ratio between total number of children who opted for Computer, Dance 

and Yoga together to total number of children who opted for Swimming, 
Computer and Music? 
fzpdp> eldk; kw;Wk; Nahfhitj; Njh;e;njLj;j nkhj;j Foe;ijfspd; 
vz;zpf;iff;Fk; ePr;ry;> fzpdp kw;Wk; ,iriaj; Njh;e;njLj;j nkhj;j 
Foe;ijfspd; vz;zpf;iff;Fk; ,ilNa cs;s tpfpjj;ijf; fz;lwpaTk;? 

a. 
15

17
   b. 

17

15
   c. 

17

18
   d. 

15

18
 

 
98. Find the central angle of the total number of children who opted for dance? 

eldj;ijj; Njh;e;njLj;j nkhj;j Foe;ijfspd; ikaf; Nfhzj;ijf; fz;lwpaTk;? 
a. 57.6°  b. 57.4°  c. 54.2°  d. 58.4° 

 
(Q.NO 99 - 103) Study the accompanying graph to answer the given questions: 
nfhLf;fg;gl;Ls;s tiuglj;ij nfhz;L gpd;tUk; tpdhf;fSk; tpilasp 
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99. For how long is the percent rising more than 100%? 

a. 1 year  b. 2 years  c. 3 years  d. 4 years 
vj;jid tUlq;fspy; mjpfhpg;gpd; tpfpjk; 100 rjtPjj;jpw;F Nky; ,Uf;Fk;? 
a. 1 Mz;L  b. 2 Mz;Lfs; c. 3 Mz;Lfs; d. 4 Mz;Lfs; 
 
 

100. What is the normal of percent ascending over the given years? 
nfhLf;fg;gl;Ls;s tUlq;fspy; mjpfhpj;j ruhrhp rjtpfpjk; vd;d? 
a. 110%  b. 105% c. 100.5%  d. 92.5% 

 
101. For how long is the percent rise lower than the normal of the percent ascend over 

the given years? 
a. 2 years  b. 1 years  c. 5 years  d. 3 years 
nfhLf;fg;gl;Ls;s tUlq;fSila mjpfhpg;G ruhrhp tpfpjj;ij tpl vj;jid 
tUlq;fSf;F mjpfhpg;G rjtpfpjk; Fiwthf ,Uf;Fk;? 
a. 2 Mz;Lfs; b. 1 Mz;Lfs; c. 5 Mz;Lfs; d. 3 Mz;Lfs; 

 
102. For which of the given years the percent ascend (from the earlier year) is the 

slightest? 
fPNo nfhLf;fg;gl;Ls;s tUlq;fspy; ve;j tUlj;jpy; (mjw;F Ke;ija tUlj;ij 
tpl) mjpfhpg;G tpfpjk; kpff;Fiwthf ,Uf;Fk;? (2001 tUlk; kw;Wk; 2003Mk; 
tUlk; Mfpait fzf;fpy; vLj;Jf; nfhs;sg;gltpy;iy) 
a. 2000  b. 2004  c. 2006  d. ,it VJkpy;iy 

 
103. In the event that the creation in 1998 was 1000 unit, what amount is the 

generation in 2002? 
a. 35280 units b. 64680 units c. 46200 units d. 62524 
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1998Mk; tUlk; cw;gj;jpapd; msT 1000 a+dpl;fs; vd;why;> 2002Mk; tUl 
cw;gj;jpapd; msT vd;d? 
a. 35280 a+dpl;fs; b. 64680 a+dpl;fs; 
c. 46200 a+dpl;fs; d. 62524 a+dpl;fs; 
 
(Q.NO 104 - 108) Study the following graph carefully and answer the questions 
given below. 

 
 

104. In the year 2006, the people preferring to play Tennis is what per cent of the 
people preferring to play Cricket, Football and Tennis together in that year? 
2006Mk; Mz;by; nld;dp]; tpisahl;il tpisahl tpUk;Gk; kf;fspd; 
vz;zpf;if> mNj tUlj;jpy; fphpf;nfl;> fhy;ge;J kw;Wk; nld;dp]; Mfpa %d;W 
tpisahl;Lf;fisAk; tpUk;Gk; kf;fspd; vz;zpf;if vj;jid rjtpfpjk;? 

a. 
1

25
2

  b. 
3

24
4

  c. 
1

21
3

  d. 
1

23
3

 

 
105. From 2001 to 2006, the total number of people who preferred to play Football was 

how much (in millions)?  
2001ypUe;J 2006 tiu fhy;ge;J tpisahl tpUk;gpa kf;fspd; nkhj;j vz;zpf;if 
vd;d? 
a. 1500   b. 1600   c. 1700   d. 1800  
 

106. The number of people preferring to play Tennis in 2006 is how many millions 
fewer than the number of people preferring to play Tennis in 2005?  
2006,y; nld;dp]; tpisahl;il tpUk;gpa kf;fspd; vz;zpf;if> 2005,y; 
nld;dp]; tpisahl;il tpUk;gpa kf;fspd; vz;zpf;ifia tpl vj;jid 
kpy;ypad;fs; FiwT? 
a. 110   b. 105   c. 100   d. 95 
 

107. What is the respective ratio of the number of people preferring to play cricket to 
the number of people preferring to play Tennis in the year 2003?  
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2003,y; fphpf;nfl; tpisahl;il tpUk;gpa kf;fspd; vz;zpf;if mNj tUlj;jpy; 
nld;dp]; tpisahl;il tpUk;gpa kf;fspd; vz;zpf;if Mfpatw;wpd; tpfpjk; 
KiwNa 
a. 14 : 17   b. 15 : 13   c. 15 : 11  d. 13 : 15   
 

108. How many people (in millions) have preferred to play cricket in all the years 
together? 
nfhLf;fg;gl;Ls;s midj;J tUlq;fspYk; Nrh;j;J fphpf;nfl; tpisahl;il 
tpUk;gpa kf;fspd; vz;zpf;if (kpy;ypad;fspy;) vd;d? 
a. 2050  b. 2000  c. 1850 d. 1750 

 
(Q.NO 109 - 110) Directions : Study the following table chart carefully and answer 
the questions given beside. 
 
The table given below shows the number of registered voters and the percentage of 
the people who voted among them in 5 different voting centres. 
fPNo nfhLf;fg;gl;Ls;s ml;ltiz> 5 ntt;NtW thf;Fg;gjpT ikaq;fspy; gjpT 
nra;ag;gl;l thf;fhsh;fspd; vz;zpf;if kw;Wk; mth;fspy; thf;fspj;j kf;fspd; 
rjtPjj;ijf; fhl;LfpwJ 
 

 
Centres 
ikaq;fs;  

Total number of 
Registered Voters 
gjpT nra;ag;gl;l 
thf;fhsh;fspd; nkhj;j 
vz;zpf;if  

Percentage of people 
who voted 
thf;fspj;j kf;fspd; 
rjtPjk;  

A 1600 70% 

B 1800 60% 

C 3000 80% 

D 2400 76% 

E 2000 85% 

 
 

109. What is the average number of people who voted at centres B, C and D? 
B, C kw;Wk; D ikaq;fspy; thf;fspj;jth;fspd; ruhrhp vz;zpf;if vt;tsT? 
a. 1768  b.1648  c.1934  d.1580 

 
110. The number of people who did not vote at centre C was what percentage more 

than that who did not vote at centre A? 
C ikaj;jpy; thf;fspj;jth;fspd; vz;zpf;if A ikaj;jpy; thf;fspf;fhjth;fis 
tpl vj;jid rjtPjk; mjpfk;? 
a. 20%  b. 15%  c. 25%  d. 30% 

 
111. A man saves Rs. 3,000 per month from his total salary of Rs. 20,000. The 

percentage of his saving is   
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khj tUkhdk; &. 20>000 ngWk; egh; xUth; xt;nthU khjKk; &. 3>000I   Nrkpg;G 
nra;fpd;whh; vdpy; mtUila khjr; Nrkpg;G rjtPjk; 
a. 5%          b. 10%   c. 15%  d. 20% 

 
112. If the numerator of a fraction is increased by 20% and its denominator by 25%, 

then the fraction so obtained is 3

5
what is the original fraction? 

xU gpd;dj;jpy; njhFjpapd; kjpg;G 20 rjtPjk; mjpfhpf;fpwJ> gFjpapd; kjpg;G 25 

rjtPjk; FiwfpwJ> gpd;G mg;gpd;dk; 3

5
khWfpwJ> vdpy; mg;gpd;dj;jpidf; fhz;f. 

a. 3

5
   b. 2

8
   c. 5

8
   d. 1  

 
113. The difference between compound interest and simple interest on an amount at 

10% p.a. for 2years is Rs.40. Find the amount. 
,U tUlq;fSf;F 10% tl;b tPjj;jpy; xU njhiff;fhd jdp kw;Wk; $l;L 
tl;bf;fSf;fhd tpj;jpahrk; &. 40 vdpy; me;jj; njhif vt;tsT? 
a. 4000  b. 4200  c. 4100  d. 4300 

 
114. Find out compound interest on 16,000 at 15% per annum, compounded yearly 

for 3 years. 
&.16000 f;F 15% $l;Ltl;bapy; 3 Mz;LfSf;F fpilf;fg;ngUk; tl;bj;njhif 
 vt;tsT? 
A.   Rs.7200         B.   Rs.9000          C.   Rs.8343          D.   Rs.8334 

 
115. A is twice as good a workman as B and together they finish a piece of work in 14 

days can A alone finish the work? 
A vd;gth; B-ia fhl;bYk; ,Uklq;F rpwg;ghf Ntiyia nra;thh;. ,UtUk; 
Nrh;e;J me;j Ntiyia 14 ehl;fspy; Kbg;ghh;fs;. vdNt A kl;Lk; me;j 
Ntiyia Kbf;f vj;jid ehl;fs; MFk;? 
a. 11   b. 21   c. 28   d. 42 

 
116. 3 men or 5 women can do a piece of work in 12 days. How long will 6 men and 5 

women take to finish the work? 
3 Mz;fs; my;yJ 5 ngz;fs; xU Ntiyia 12 ehl;fspy; nra;J Kbf;fpd;wdh;. 
vdpy; 6 Mz;fs; kw;Wk; 5 ngz;fs; me;j Ntiyia vj;jid ehl;fspy; nra;J 
Kbg;gh;? 
A. 20       B. 10   C. 4      D. 15 

 
117. If the ratio of the ages of son and father in 2014 and 2022 are 1:4 and 3:8 

respectively then the sum of the ages of son and father in 2010 is 
2014 kw;Wk; 2022 Mz;L kfd; kw;Wk; je;ij MfpNahhpd; taJfspd; tpfpjq;fs; 
KiwNa 1:4 kw;Wk; 3:8 vdpy; 2010 Mk; Mz;L kfd; kw;Wk; je;ij MfpNahhpd; 
taJfspd; $Ljy;. 
a. 42    b. 43   c. 50   d. 45 
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118. The mean of 25 observations is 36.  The mean of first 13 observations is 32 and 
that of last 13 observations is 39.  What is the value of 13th observation? 

 25 KbTfspd; ruhrhp 36 MFk;.  Kjy; 13 KbTfspd; ruhrhp 32 kw;Wk; 
 filrp 13 KbTfspd; ruhrhp 39 vdpy; 13tJ vz;zpd; kjpg;G vd;d? 
 a. 20   b. 23    c. 32    d. 40 
 

119. The ratio of the present ages of two brothers is 1 : 2 and 5 years back, the ratio 
was 1 : 3. What will be the ratio of their ages after 5 years? 
,uz;L rNfhjuh;fspd; taJ tpfpjk; 1 : 2 Ie;J Mz;LfSf;F Kd;G mth;fspd; 
taJ tpfpjk; 1 : 3 vdpy; Ie;J Mz;LfSf;F gpwF mth;fspd; taJ tpfpjk; 
vd;d? 
a. 1 : 4  b. 2 : 3  c. 3 : 5  d. 5 : 6 

 
120. The mean of 5 numbers is 20. If one number is excluded their mean is 15. Then 

the excluded number is 
5 vz;fspd; $l;Lr;ruhrhp 20. mtw;wpypUe;J xU vz;iz ePf;fpdhy; mtw;wpd; 
$l;Lr;ruhrhp 15 vdpy;> ePf;fg;gl;l vz; 
a. 5   b. 40   c. 20  d. 10 

 
121. Which of the following is/are become possible for lengths of three sides of a 

triangle? 
gpd;tUtdtw;Ws; vJ/vit xU Kf;Nfhzj;jpd; %d;W gf;fq;fspd; ePsq;fshf 
,Uf;f ,aYk;? 

 1.9 cm, 4 cm, 4 cm    2. 13 cm, 14 cm, 25 cm 
 3. 5 cm, 3 cm, 3 cm   4. 8 cm, 4 cm, 3 cm 
 a. 2, 3  b. 1, 2, 3  c. 2 only  4. 1, 3 
 

122. The circumference of a circular park is 264 m.  Find the area of the park 
 tl;l tbtg; G+q;fhtpd; Rw;wsT 264kP.  G+q;fhtpd; gug;gsT fhz;f. 
 a. 5544 sq.m b. 5444 sq.m c. 5554 sq.m d. 5534 sq.m 
 

123. A garden is in the form of a trapezium.  The parallel sides are 40 m and 30 m.  
The perpendicular distance between the parallel side is 25 m.  Find the area of 
the garden. 
xU Njhl;lkhdJ rhptfk; tbtpy; cs;sJ.  mjd; ,izg;gf;fq;fs; 40 kP> 30 kP.  
,izg;gf;fq;fSf;F ,ilNa cs;s njhiyT 25 kP.  Njhl;lj;jpd; gug;gsT 
fhz;f. 
a. 874 m2  b.875 m2  c. 872 m2   d. 870 m2 

 

124. The lateral surface area of a cube is 400 sq.cm, then its side is 
xU fdr;rJuj;jpd; gf;fg;gug;G 400 r.nrkP vdpy; mjd; gf;f msT  
a. 4 cm  b. 10 cm  c. 100 cm  d. 5 cm 

 
125. A cone and a sphere have equal radii and equal volumes. The ratio of the height 

of cone to the diameter of sphere is ________ 
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xU $k;G kw;Wk; xU Nfhsk; Mfpait rk Muj;ijAk; rk fd msitAk; 
nfhz;Ls;sd.  me;jf; $k;gpd; cauj;jpw;Fk;> me;jf; Nfhsj;jpd; tpl;lj;jpw;Fk; 
cs;s tpfpjk; ________. 
a. 3:1  b 1:3  c. 6:1  d. 2:1 

 
126. If a number has a non-terminating and non-recurring decimal expansion, then it 

is 
a. a rational number   b. a natural number 

 c. an irrational number  d. an integer. 
KbTwh kw;Wk; Roy; jd;ikaw;w jrk tphptpidg; ngw;Ws;s vz; 
a. xU tpfpjKW vz;  b. xU ,ay; vz; 
c. xU tpfpjKwh vz;  d. xU KO 

 
127. The sum of the digits of a two digit number is 13.  When the digits are 

interchanged, the value of the number is increased by 45.  What is the number? 
Xh; <hpyf;f vz;zpd; ,yf;fq;fspd; $Ljy; 13.  me;j vz;zpd; ,yf;fq;fis 
mtw;Wf;Fs; ,lk; khw;wpdhy;> me;j vz;zpd; kjpg;G 45  mjpfhpf;fpwJ vdpy; 
me;j vz; ahJ? 

 a. 67   b. 49   c. 58   d. 94 
 

128. If the number 48327 * 8 is divisible by 11, find the missing number. 
48327 * 8 vd;w vz; 11 My; kPjpapd;wp tFgl * f;F nfhLf;fg;glf;$ba kpff; 
Fiwe;j kjpg;G vd;d?  
a. 1   b. 2   c. 3   d. 4 

 

129. Find 74 44 22 5 16+ + + +  

74 44 22 5 16+ + + +   

a. 5   b. 7  c. 6  d. 9 
 

130. 784 ÷ 14 + 598 ÷ 13 + ? = 99% of 2500  
784 ÷ 14 + 598 ÷ 13 + ? = 2500 ,y; 99%   
a. 2475   b. 2373   c. 2285  d. 2565  

 
131. If x : y = 6 : 11,  find (8x−3y) : (3x+2y). 

x : y = 6 : 11 vdpy;  (8x−3y) : (3x+2y) d; kjpg;G fhz;f 
a. 3 : 8   b. 8 : 3   c. 3 : 2  d. 6 : 1 
 

132. The product of three number with the ratio 1:2:3 is 750, then the sum of their 
squares is 
%d;W vz;fspd; ngUf;Fj;njhif 750 mitfspd; tpfpjk; 1 : 2 : 3 vdpy;       
mt;ntz;fspd; th;f;fq;fspd; $Ljy; 
a. 350   b. 600  c. 450  d. 400 
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133. Calculate the third proportional to 27 and 81. 
27 kw;Wk; 81 vd;w vz;fspd; %d;whtJ tpfpj vz;izf; fhz;f 
a.   243                  b.   342                  c.  234                 d.   486 

 
134. A car travels 360 km in 4 hrs. Find the distance it covers in 6 hours 30 minis at 

the same speed.  
xU kfpOe;J 360 fpNyh kPl;lh; J}uj;ij 4 kzp Neuj;jpy; flf;fpd;wJ. mNj 
Ntfj;jpy; kfpOe;J nry;Yk; nghOJ> 6 kzp 30 epkplq;fspy; vt;tsT J}uj;ijf; 
flf;Fk;.  
a. 595 km  b. 500 km  c. 600 km   d. 585 km  

 
135. A train 320 m long is travelling at a uniform speed of 66 km/hr. If it passes a 

platform is 42 seconds, find the length of the platform . 
320kP ePsKs;s xU ,uapy; 66 fp.kP / kzp rPuhd Ntfj;jpy; gazpf;fpwJ. ,uapy; 
42 tpehbfspy; eilNkil xd;iw fle;jhy; mjd; ePsj;ij fhz;f 
a. 450 m  b. 415 m  c. 325 m   d. 285 m  
 

136. LCM of two numbers is 432 and their HCF is 72. If one number is 144, find the 
other numbers.  
,uz;L vz;fspd; LCM 432 MFk;. Mjd; HCF MdJ 72Mf ,Ue;J> xU vz; 
144Mf ,Ue;jhy; mLj;j vz; 
a. 214  b. 215   c. 216  d. 218 

 
137. The LCM of 3a2bc, 5ab2c, 7abc2 is 

3a2bc, 5 ab2c, 7abc2 d; kP.ngh.k vd;gJ 
a. 35a2 bc2  b. 105a2 b2 c2  c. 15a2 b2 c2  d. 105abc 

 

138. If ( 5  x  1) 

2

1

3

 
 
− 

 
 

 = 20 then the value of x is 

( 5  x  1) 

2

1

3

 
 
− 

 
 

 = 20 vdpy; x d; kjpg;G fhz;f 

a. 7    b. -7  c. 
1

7
  d. 0 

 
139. If 3x cosec 360 = sec 540, then the value of x is 

3x cosec 360 = sec 540 vdpy; x d; kjpg;G fhz;f 

a. 0   b. 1  c. 
1

3
  d. 

2

4
 

140. Find the number of terms in the A.P 3, 6, 9, 12, .... 111 ?  
3, 6, 9, 12, .... 111 vd;w $l;Lnjhlh; thpirapy; vj;jid cWg;Gfs; mike;Js;sd?  
a. 36           b. 37   c. 41          d. 39 
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TNUSRB – SUB INSPECTOR RECRUITMENT TRAINING – 2022 
TEST XV – REVISION II – HISTORY, GEOGRAPHY, PSYCHOLOGY 

 

1 2 3 4 5 6 7 8 9 10 
A A A C C C A A C A 

11 12 13 14 15 16 17 18 19 20 
B A A B D C C C C A 

21 22 23 24 25 26 27 28 29 30 
A B D D D A A C C C 

31 32 33 34 35 36 37 38 39 40 
A C A D C A C A D B 

41 42 43 44 45 46 47 48 49 50 
A B D C B C A D A D 

51 52 53 54 55 56 57 58 59 60 
A D B A C A C C C B 

61 62 63 64 65 66 67 68 69 70 
B C A D A A A D A A 

71 72 73 74 75 76 77 78 79 80 
A D B B A D A C B D 

81 82 83 84 85 86 87 88 89 90 
C D C B B D D B B A 

91 92 93 94 95 96 97 98 99 100 
A C B D C D C A D D 

101 102 103 104 105 106 107 108 109 110 
D C D D D C B A A C 

111 112 113 114 115 116 117 118 119 120 
C C A D B C A B C B 

121 122 123 124 125 126 127 128 129 130 
A A B B D C B A D B 

131 132 133 134 135 136 137 138 139 140 
A A A D A C B B C B 

 
 


